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Estimating Multiplication w/Decimals Name:
Use the decimal placement to estimate the product. Answers
1) 8.831x0.82=
A.7.24142 B. 724.14200 C.0.72414 . 72.41420 L
2,
2) 4.98 x 8.968 =
A. 446.60640 B. 4,466.06400 C. 44.66064 . 4.46606 3
3) 3.61x2427= 4,
A. 8.76147 B. 87.61470 C. 0.87615 . 876.14700
5.
4) 0.761x5.7 =
A. 433.7700 B. 0.0434 C. 4.3377 .43.3770 6.
7.
5 513x6.6=
A. 33.858 B. 0.339 C. 338.580 . 3.386 8
6) 0.83x4.183= 9.
A. 34.71890 B. 347.18900 C. 3.47189 .0.03472
10.
7) 4.14x7.492 =
A. 310.16880 B. 3.10169 C. 31.01688 . 3,101.68800 1.
12.
8) 0.6x7.527=
A. 45162 B. 451.6200 C.0.4516 .0.0452
9 823x19=
A. 15.637 B. 1.564 C. 156.370 .0.156
10) 4.135x6.3=
A. 0.2605 B. 2.6051 C. 26.0505 . 2,605.0500
11) 1.3x223=
A. 2.899 B. 28.990 C. 0.029 .0.290
12) 8.87 x0.748 =
A. 6.63476 B. 0.66348 C. 0.06635 . 66.34760
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Estimating Multiplication w/Decimals Name: Answer Key
Use the decimal placement to estimate the product. Answers
1) 8.831x0.82=
A.7.24142 B. 724.14200 C.0.72414 . 72.41420 1 L
2. C
2) 4.98 x8.968 =
A. 446.60640 B. 4,466.06400 C. 44.66064 . 4.46606 3 A
3) 3.61x2427= a C
A. 8.76147 B. 87.61470 C. 0.87615 . 876.14700
5. A
4) 0.761x5.7= C
A. 433.7700 B. 0.0434 C. 4.3377 .43.3770 6.
7 C
5) 5.13x6.6=
A. 33.858 B. 0.339 C. 338.580 . 3.386 8 A
6) 0.83x4.183= o. A
A. 34.71890 B. 347.18900 C. 3.47189 .0.03472
0. C
7) 4.14x7.492 = A
A. 310.16880 B. 3.10169 C. 31.01688 . 3,101.68800 1L
12 A
8) 0.6x7.527=
A. 45162 B. 451.6200 C. 0.4516 . 0.0452
9) 8.23x19=
A. 15.637 B. 1.564 C. 156.370 .0.156
10) 4.135x6.3=
A. 0.2605 B. 2.6051 C. 26.0505 . 2,605.0500
11) 1.3x2.23=
A. 2.899 B. 28.990 C. 0.029 .0.290
12) 8.87 x0.748 =
A. 6.63476 B. 0.66348 C. 0.06635 . 66.34760
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